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Physics (MCQ)

OF FIAR AT FS G ? [Ans: a)
(a) 4.2 (b) 4.7 (c) 5.2 (d) 3.2

T 8 AL LIS (FI F© A ISR AT 2+ (32

(a) 120° (b) 0° (c) 90° (d) 180°

FAATLI: (€); T 8 AT TGS (1T 90° RO PG AN 27 27 | FIFA W = FS cosd
QN 0 = 90° AW = FS c0s90° . W = 0
GG I (IR (AT 8 sec A A7 FE FO?

(a) 1 Hz (b) 0.125 Hz (c)2Hz (d) 1.25 Hz
TAYI: (b); £ = % >f= % ~f=0.125Hz

57 IfS Ite @ @t A2

(a) [ML*T 2] (b) [ML™2T?] (c) [ML*T?] (d) [ML™'T~?]

T (a); 0T QNS @3 A@N = 97 X GAGS V@l = [MLT 2] x [L] = [ML2T 2]
B S F91 ST ARAT© TaceT OB GFF AL MRS = AfH @2

@ xfee o)l © an (@3 x g x Ry
AR (d); GG TSR, V = AL 3% GG 316w e =i, W= 1Y25 = 1 p x|
e % o e w1 a1 gowm, U = 2 = 250 1 (5) 5 (1) = 1 g  Frgfo

\'% AXL 2 A L 2
GG AT & 600 K 8 300 K OISR (7 W F1 I, (59 3% TSI 318 3 900K T S |
T-43 T« F6?

(a) 900 K (b) 1800 K (c) 1500 K (d) 450 K
300

STARIA: (d); 3T o7, Tt n = (1 ‘2&) X 100% T STZ, {F CH0E, FITHS! T |
n=(1-=)x 100%@@&(1—2—%) = (1-—%):%:%:%:%:'&4501{

A R A (@ ©Gra 7 F? ¢ [Ans: ¢]
(a) STAB (b) FRAFAR (c) GBI (d) TEFFEPIHADS

IS AT T @M 2 TI 4TS I8 8 FACE N IR T- [Ans: a]
(a) 0° (b) 45° - (c) 90° (d) 30°

I feufifE 3t AR Tw dite ©ist a1 =itz | ATHRBRB Fo/8 70T 15°C 932 70°C SIREE
100°C =18 (731 120°F SIAN@R 8% AcfRGrRb T #1 fig?

(a) —74.37°C (b) 41.89°C (c) —74.37°F (d) 74.37°F
. (e © _ 120-32 _ o, 48.89-0°  0-15° g 0

T (b); £ = ——— = C = 48.89°C; 20 = =" = 9 = 41.89°C

GFf6 OITER iy SEF T 97 @14~

(a) TfRISE AFTa (b) 9F-FRAM R (c) MEF A (d) fawe 23

1
L oL 1
AN (¢); Ry =R, = 2= 2 Ry = 3R,




ECITTER |

1. fise @ Eifieisa 787 : [Ans: d]
(a) ST (b) Fiferes (c) SAfE (d) et

12. 10 kg ST@ 96 91 1m TR AT SR T4 SSHEE T T 367
(a) 6.67 X 107'N (b) 6.67 x 1071IN (c) 6.67 x 107°N (d) 6.67 x 107 13N
ST (c); We know, F = G772 = 6,67 x 1071 x 191121—0 ~F=667x10"°N

13, sererRG T Ay Fdw = 4% - [Ans: d]
(a) BITER SBY (b) BITER =Afasrel (c) =3 i1y (d) e 27T Sy

14. 128 Wl AIGET T @G A2
w3-% w2t oiF @Fe

5 _2m

mmz(b);wmﬂaﬂ=%xm-mw=>s=%o=>o .

15. G35 SAER @6 corx 125 T Fi5! tofd Fare o0 *If& 7aia? [S0e Seo T 430 ]
(a) 16 mr? (b) 17 nTr? (c) 16 mTr? (d) 4T 100r? T
STRI: (d); 92, 125 X s = nR® = R = 5r
W = 4m(125r% — R?)T = W = 4n[125r% — (5r)]T = 4m X 100r?T

16.  0°C SI#IENT TS *THA [ F© F(I?

(a)320ms™* (b)332ms™? (c) 335ms™?! (d) 340 ms™!
FAYE: (b); 0°C A 273K SN 8 TSRS BT ©F IFCS *THA (391 332 m/s

17.  CISIPNIER @FRTES 2Wid IR 2mied 2fies 2 o F a0 [Ans: a]
(a) A SrI@ (b) FRTATF OIPN@ (c) O SNl (d) BT SrA@Al

18. (®39A =i— 3]+ 5k a3 B = al + 6] — 10k; a —9% I TS L, (ST 70 FASAE I?
(@) 0 (b) -2 (¢) -1 (d)1
WW:(b);mm,iz?z_im.é:—%::é:—%::’a=—2

19. AR @ 40E ok fSq 30 ToABIe FIRAF Cofd T AR?

(a) 2foTe (b) AT (el (c) 4 TreTaae afsTe (d) efswad

FAGI: (c); m

SBEIIET T SR G @I (BT TG (I NoAfes =21 et =1 wroredet afomram =

20.  CICAT ¢S89 A SrgefrEe =3 I - [Ans: b]
(a) CRSRCES W (b) I T A (c) T=afG (d) @I =1

21. O3B BIF1F 99 10 kg 932 SIS FPTE 0.5m O TSR INF F97?
(a) 1.5 kg m? (b) 5 kg m? (c) 2.5 kgm? (d) 10 kg m?
FTL: (¢); TGO IS, | = Mk? = 10 x (0.5)? = 2.5kg m?

22, (oD ST 3 fAea (e fofers e ea? [Ans: a]

(2) T/ TwAfe  (b) SHIFPEER 1@ (c) TG NS (d) Frfrea 7@
23,  <fed or=w AT AN @H(G?

@M=5 (b)M =5 OM=& @M=

4m?r?
GT?

GM R?
W:(b):g=ﬁ=>M=gT

[ ssw-Sww SRCTI




R
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24. ST SIS (T SIANQT 77 =2 ' [Ans: d]

(a) 273°K (b)0C (c) 32°F (d) 0K
FAKI: (d); - 273°C SIPAIAR MR ATS SIGFSITT 2 =1 -~ —273° = (—273 + 273) = 0K

25. foeee WG weoEe omrd? [Ans: d]
(a) I (b) foree (c) 7 (d) IS

Chemistry (MCQ)

01. 3ifer e fawm S “irezre s “&fe @mB? [Ans: a]
(a) PO (b) 7S (c) “fzR—= (d) fases

02. ARG FH 41 TR (NG SR, 63 @ 41ef5 2eeaG ST HIb1300 @ 20 Tz FA0E?
(a) SPTITRET (b) SRS (c) cTfSz (d) forem [Ans: b]

03. (XA “M&STS NH; TeAmIs e @B ereq ARt fame? [Ans: a]
(a) SIoITA 8 519 (b) 5171 ¢ RfeFaTa proet '
(o) Sl ¢ RRfeFaras sppree (d) srrErsIA @ R spree

04. fotao= tefem Ao e B2 [Ans: b]
(2) 15mICH;COOH + 85mlIH,0 (b) 8mICH;COOH + 92mlH,0
(c) CH3CH,COCH;3 & CH3CHO (d) CH,COOH&CH; COOCH,

05. 250 ml 0.1 M SR «@fsTe B3¢t tofd Fare $© 7 AN JHEF afites ees 23? [Ans: b]
(a)12.6 g (b)2.25g (c)63¢g (d)6.86 g
ST (b); W = > = S =225g

06.  afTe W BIRGTH AT (F) Freiss fFeia g6 awem? [Ans: b]
(a) Violet — red (b) Yellow — red (c) Colourless — red  (d) Yellow — blue

07. p 3 G I (ATF T I (I FXS! FCH T2 [Ans: b]
(a) SR (b) Rzt (c) TETFABCH (d) @FIefoE 7

08. <ifere «fite 3t sl yoe wee?
(a3 ()11 )2 v (d)4fS

COOH

TA: (c); ALT® @[COOH

09. SHICNIAT 93 NFfe 205=- : [Ans: d]
(a) 7 ARF (b) fage Aoy (c) QR (d) far=idia forfafen

10. Bt R Iwa Aderaace 9929 <3- [Ans: c]
(a) CH;CH,0H @ CH;CHOHCH; (b) CH;CH,NH, 8 CH;CH,NHCH;
(c) CH3CH,COCH;3 € CH;CHO (d) CH3COOH 8 CH3COOCH,4

11. SIS CF R IS IS (G2 [Ans: c]
(a) R (b) =5 (c) @e (d) &=

12. @ [ERs? [Ans: a]

(a) SnCl, (b) KMnO, (¢) K,Cr, 0, (d) IR 77

Ul sgw-omm SR

7
7
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13.

14.

15.
16.

17
18.
19.
20.

21.
22.

23.

24.

25.

01.

02.

03.

04.

| -

K, [Fe(CN)¢] ™2 @ Fe @3 &R A 97
(a) +4 (b) +2 (c)+3

(d) —4

AMYH: (b); L X2+Xx+6X (1) =-222+x—6=—-2=x=-2+4=2

40 mL 0.05 M HCI &*fs/® 34t® 0.1 M NaOH B3tod (@ STes FAlCs-

(a) 10 mL (b) 15 mL (c) 20 mL (d) 40 mL

STA: ()3 ViSy = VoS, Vy = T = 20 mL

wfefae AW T eIt s e - [Ans: c]
(a) CT& (b) FCB= (c) RIS (d) eerre

I THE TR AN 5BeH B @ Arwe! i A? [Ans: b]
(a) SAE IF7 (b) TGS TF  (c) ARG I (d) RICTHBE 7

feoa WG NfRrs 3dw 977? [Ans: ¢]
(a) Na,SO, (b) Na,S05 (c) BaSO, (d) CuSO,

FIIHCE TT LSS @0 IS 7 [Ans: ¢, d]
(a) NaCl (b) NaHCO, (c) NaOH (d) Na,CO5

AT Afegew i Mo @m el sed-oprar o [Ans: b]
(a) —COOH (b) —OH (c) —NO, (d) —CHO

Y ST (I FE Q0 S 7 [Ans: b]
(a) Li (b) Cs (©) K (d) Rb

T AT Torere Rt sinedl T1F- [Ans: ¢]
(a) & (b) R (c) faTrert (d) AR

T *fFe RAE ZETRE R 5d *FTR R SR T 8 IS € 91 22 [Ans: b]
(a) Twve Tifae (b) A6 e (c) IR Pfas (d) R Frfae

@G CFea BIerS Hwg? [Ans: a]
(a) NaOH (b) Na,CO, (c) Na,C,0, (d) K,Cr,0, ,
ACFISSE FETGEAIRPT FACA (S 21T IH? [Ans: b]
(a) JTIIE + YIS (b) TG + P& (c) A + IS (d) PICAHE T

S @ weft wafe? ' [Ans: a]
(a) CO, (b) SO, (¢) H,0 (d) CH,0

@G TCATS INLCET Bfem 79? [Ans: d]
(@) T (b) crtet (c) A (d) ¥

W2t F© AT SWeARS CARITS NfFS? [Ans: a]
(@)2° (b) 4 ()5 (d) 6

Q! e Tfew @i ? [Ans: b]
(a) BTICOT (b) AT (c) 93 (d) frer

FIHR AN ATSIE It I 7? [Ans: b]
(a) TR (b) F© (c) forer (d) it

£5N-S@E z 196 i




05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15,

16.

19:

18.

JC&E AT ST I — . [Ans: d]
(i) Sl = oM (i) I AN AT (i) AT airfies sy SRy Ay s
(a)isii (b) ii @ i (c)i @ii (d) i, ii @ i

@ O & {77 ST 911 0 3?2 [Ans: c]
(a) Adrenaline (b) LH (c) ADH (d) Thyroxine

G3eA Bt Frer 2ol w7 - [Ans: ¢]
(a) 1 97 efies (b) 2 97 sffes (c) 3 @7 eftes (d) 4 @7 eftes

Afame Fefsar TS - [Ans: ]
(a) &AF (b) T @ITF (c) TFERA GIE  (d) & Sfem

2B s AWy SAfFsiicea TR 1T TAMI 20 - [Ans: c]
(a) 51 (b) e (c) ST @ (d) ©I3roeBIze

TR 2 [Ans: b]
(a) CRIET ifF® e (b) =@IF FfFS RWTT () T i Rt (d) T srifFe [wp

@0 T be? [Ans: ¢]
(a) TR (b) GICfFe (c) LR P (d) Reeafe

@ YL 77? [Ans: d]
(a) 49 (b) 1% (c) At (d) IS

COANTST (M2 (I FIB I A2 [Ans: a]
(a) 16 & (b) 1515 (c) 14 & (d17 %

@96 Bulb « Twrgge? [Ans: ¢]
(a) ] (b) S9! (c) coiATS (d) =

R afefaerT fRwsia weea Wi 62 [Ans: d]
(a) SIfEHGe (b) BT 715 TGN (c) ATBIfN ISR 2 (d) FICAETT BT -
WWW&WWWWW%@EN? [Ans: c]
(a) ST (&7 (b) @frRfeE™ @ (c) BT @1 (d) fre=m

C, Tfew @52 N [Ans: d]
(a) A (b) TF (c) Ba (d) FRefe

I ATRA (TN T HIZCPEH GG FACS AN? [Ans: c]
(a) foraafer (b) SrTPer NOE (d) g

FFORASTR GF K77 - [Ans: b]
(a) IFCBIT (b) =127 (c) =@ (d) C*rre

e G T=? [Ans: d]
(a) fofer T (b) ORI g (c) o2 (d) @IAIDE 77

i Cofire Iage = [Ans: ¢]
(a) = (b) S5t (c) & (d) e

AT @7 e 72 =7 [Ans: a]
(a) *TTNG (b) ZTAG ORISILIEY (d) TrcfRee

S-S __ LU




23. (@I Ofem Ty 906 F1? . [Ans: a]
(a) TICOIAN (b) =N3TAEA (c) fre=4 (d) T

24, WIER (AT IR AR 39?2 [Ans: a]
(a) R CETe! (b) O CEe! (c) X8 (&%l (d) > cerel

25. DNA (@ 23 =1 fqrea @i ? [Ans: d]
(a) STITE (b) &Tf (c) A= (d) T

English (MCQ)

Fill in the Blanks with appropriate word: (1-3)

01. __all his wealth, he is unhappy. [Ans: d]
(a) At (b) The (c) On (d) For

02. Theboy in the accident was taken to the hospital [Ans: a]
(a) injured (b) injures (c) injury (d) injure

03. Mr. F. Khandakar has obtained ___ F.R.C.S. ~ [Ans: ¢]
(a)a (b) the (c) an (d) none

04. Find the synonym of the word: (4-6)
Acclaim [Ans: a]
(a) Applaud (b) Rebuke (c) Chide (d) Condemmation

05. Impediment [Ans: a]
(a) Obstacle (b) Impertinent (¢) Embankment (d) Progress

06. Need [Ans: d]
(a) Demand (b) Ask (c) Interrogate (d) Requirement
Find the antonym of the word (7-8)

07. Leberty [Ans: b]
(a) Liberal (b) Bondage (c) Frugal (d) Diversity

08. Faithful [Ams: a,b]
(a) Faithless (b) Unfaithful (c) Non-faithful (d) defaithful
Choose the correct sentence: (9-12)

09. (a)Iand he is brother. (b) He and I am brother [Ans: c]
(c) He and I are brothers. (d) T'and he is br(;thers.

10. (a) Walking towards the left, I found the shop. [Ans: d]

(b) While I walked towards the left, I found the shop.
(c) I found the shop while walking towards the left.
(d) When I turned left, I found the shop.
11. (a) My friend could not avoid to go. [Ans: c]
(b) My friend could not avoid go.
(¢) My friend could not avoid going.
(d) My friend could not avoid gone.
12.  (a) No sooner had I came then he went away. [Ans: d]
(b) No sooner I come then he went away.
(c) No sooner had I come when he went away.
(d) No sooner had I come than he went away.

; 198 2
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Change the narration as directed: (13-17)

13. He said, “What a fool I am!” (make it indirect) [Ans: a]
(a) He exclaimed that he was a great fool. (b) He told me that I am a fool.
(c) He exclaimed me that I am a fool. (d) He exclaimed that I was a great fool.

14.  Isaid him, “You may come in.” (make it indirect) [Ans: c]
(a) I told him that you may be come in. (b) I told him that you might come in
(c) I told him that he might come in. (d) I told him that he might be come in.

15. Mother said to me, “May you shine in life.” (make it indirect) [Ans: c]
(a) Mother told me that I might shine in life. (b) Mother prayed that I may shine in life.
(c) Mother prayed that I might shine in life. (d) Mother wished that I might shine in life.

16.  The stranger asked him where he lived. (make it direct) [Ans: a]
(a) “Where do you live?” said he the stranger. (b) “Where you live?” the stranger said.
(c) Where you lived that the stranger asked. (d) “Where you live?” said the stranger.

17. He said to her. “What do you want.” (make it indirect) [Ans: b]
(a) He told her what did she want. (b) He asked her what she wanted.
(c) He asked her what does she want (d) He asked her what did she wanted.

18.  Change the voice: (18-19)
He expects him soon. (make it passive) [Ans: aj
(a) He is expected soon. (b) We are expected him soon
(c) He is expect soon. (d) We are expected soon.

19.  He found it at last. (make it passive) [Ans: b]
(a) It was found by him. (b) It was found by him at last.
(c) It was found him at last. (d) It is found him at last.

20.  Choose the right form for the verb: It is many years since I (see) Obama. [Ans: c]
(a) had seen (b) seen (c) saw (d) was seen

21. “Bottom line” means- [:Ans: d]
(a) The final step (b) The last line of a book (c) The end of a road (d) The essential point

22.  When he whistled, the dog came back. (make it compound) [Ans: b]
(a) Whistling the dog, it came back. (b) He whistled and the dog came back.
(c) He whistled but the dog came back. (d) He whistled to let and the dog came back.
Translate into English: (23-25):

23, =if~are 28ce 3B 23ref _ [Ans: a]
(a) It had been raining since Saturday (b) It has been raining since Saturday.
(c) It has been rains from Saturday. (d) It has been raining from Saturday.

24, SIO[N  GFTA AR 1 | [Ans: b]
(a) Masuma could not but to cry. (b) Masuma could not but cry.
(c) Masuma could not help cry. (d) Masuma could not be crying.

25. @7 OIS TITAS TS (MRS | [Ans: b]
(a) She likes her mother. (b) She takes after her mother.
(c) She looks after her mother. (d) She seems to her mother.

- A Saro-Tras ; 199 ’ o
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04.

05.

06.

07.

08.

09.

10.

Physics (MCQ)

735 s 2fSBa 0y 12 om 3031 W @3 @R TR0 14 om AT 7 SR ST 7= #A1y-
@5 ®F = @F

FAALI: (a); 71 AT (8) ——x A ANEFT (x) ——x14-—l4_“_Z§E

-8 =?—2n=;.-.v?‘n‘9fmr;13’la]‘5

S @=oa Ree s=wgr? [Ans: b]
(a) T& T (b) 2R T (c) AFO (d) =2 77

@3B P16 D7 TR A GIeteT of o561 RGR F4 ©O6! RGR 71 | @3 F17 572 [Ans: b]
(a) ArTST (b) *@B= (c) TeAR (d) 7

ufS o33 T @il ferare == &y s e A?

(a) 0° (b) 90° (c) 180° (d) 270°

FAIY: (c); 0 = 180° A, cosd AT W FI(N 3 WL, cosh = —1, O FAfha W FEWY A |
I A =6i—-3]+2keB =2{+2j+ kTSR A BFe?

(a) 4 (b) 8 (©) 16 (d) 20

AL (b); A. BE=6x2-3%x2+2Xx1=12-6+2=38

% S0 *R77 720 W [Rga J4IR8! g $97 [Ans: b]
OF (b)2 OF ()2

SRR *IfE 5341 2= 2- [Ans: a]
@@leV (b)3e V (c)7e V (d)2.5eV

100 m I JSIFR 2T (P FHIFNRCF AL SHCF IR 14.6° (A A F© (@0} A< fre
ARI? ]

(a) 10.8 m/s (b) 16 m/s (c)208m/s (d) 26.8 m/s

SNG: (b); tan 6 = :—; = v =15977 ~ 16 ms™?

200 S ! 37.2% wFe! B @3 69 (@17 FI& [T 41 TR | &S FILFe T Fe F7?
(a) 1447 (b) 244 ] (c) 74417 (d) 256 J
TAY: (c); FEFF F! (p') =p><n=>ﬂ=pxn

SW=pxnxt=>W=200X2x1:W="744]

T @Bl QTG 39 R 5°C @ =B fR115°C 20, (N T8 Sl 50°C 0o &
QTG A9 T TA? [Ans: b]
(a) 55°C ~ (b)60°C (c) 65°C (d) 52°C

AGT: (b); — = S = 30 = 575 50 % 110 = 100(S - 5) = 0 =5 -5 .. S = 60°C
b 18

100 B—-M 100 115-5 100




GST & &g St

L T

11, TMR 49 991F 93 933- ’ [Ans: a]
(a) Nm™2 (b) Nm™?! (c) Nm (d) N’m
12.  93f6 7 T Gy SRR faedt | RS e (e (IEwIa 3s JA, 2RNBa (AHaTe F9?
(a) 4.54 s (b) 4.48 s (c)4.24 s (d) 6.00 s
TAYA: (0); Tox VAR, 2= [Eo Ty =Ty x 22T =3xv2 T, =4.24sec
2 7 4 2
13. 64 fRulRf2 9 2= sl effs AT 240 37 o= F5fs = w1 v 73?

(a) 255 Hz (b) 256 Hz (c) 246 Hz (d) 265 Hz
ANYE: (b); m Xn=fxXt=f=256Hz
@QMTH, m = U, n = g, f = T

14. 2F,3F, € 4F, W= foqfb 4173 AN AN T& | AT T IRPG 397

(a) 1.08 F (b)45F (c)9.0F (d) 0.99 F
FAGH: (c); C, =C, +C,+C3=2+3+4=09F

15. 20 AIfSetee e e geees Spfie S Fe? © [Ans: a]
(2) X (b) g ©3 (d) —g

16. (P GAN SACHT ARFA? [Ans: b]
(a) y = sinkx (b) y = coswt (c)y =tan(kx — wt) (d) y = cosktsin wt

17. (PN IGIGETa = 2 + 6t m/s? T 57 G RF F IR 10s TAH F© FBIR g TS FA01?
[t=0 ¢ @ )
(a) 550 m (b) 1000 m (c) 1100 m (d) 1200 m

W:(C);az2+6t=>3—:=2+6t=>dv=2dt+6tdt=>fdv=2fdt+6ftst=>v=2t+3t2
9RE, ds = vdt = ds = (2t + 3t?)dt=> [ds =2 [tdt+ 3 [t?dt=>s =t? + 3
t=10sec %, s = 10?2 + (10)3 = 1100 m .

18. SINE AT SAGATS F97? [Ans: c]

(a) 0.11 (b) 0.22 . (©033 (d) 0.44
19. %y TR ISRt @i fBr (Feea o7 97 57 otwa 2 vt | oM SRgR 7 Sl iy v fitr?
(a) 0.5 m (b) 1.0 m (¢) 1.5m (d)2.0m

i m V2 1 \'& & Lo 1 __
T (a); 2 = /1—§=>5= 1 - SRE, L= Lo /l—c—2=>L=—23—5—0.5m

20. F© THol (A AT ATra NN 96 BRRAIZE 5169 T2 30 ms ™! @ AT ATE?

(a) 30 m (b) 15.7m (c)459m (d) 9.8 m
ATLE: (c); V2 =02+ 2gh=>h =4591m

21. I =pf @1 90° 93 @R =W, BT FAFT T AT SY! (@I TA? [Ans: d]
(a) Tta BT D FINC (b) oS Aret
(c) it Tata foes e 1t (d) Tea R

22, ST5S CE (1R TR IR T o 0T FACEFR- [Ans: b]
(a) TN (b) fawet (c) fomee (d) TrAwe

) m-Sew




GST 353 ST e

23,

24.

25.

01.

02.

03.

04.
05.
06.

07.
08.
09.

10.

1L,
12,

13.

{ ™% |

4f5 O IR Q@14 R T @7 et 07y @ faed ypmd RidE qaf ©INE @Y 5 21?

@7 (b3 ©R
i VIR gl ! < R
W-(b),a‘—z—z-.Rl—;

IIATSH (FI FHLF (PINA/FIG Lo TN 0 AfSraet (@iet 672

(a) 0° (b) 90° () 45°
R B @I I8 LG F9?
(a) 9.8 ms™! (b)11.2 ms™? (c) 9.8 kms™!

1°, 2°, 3° SifSTe Weay 21y e e I9ze =-

(a) HNO; (b) In 8 HCI (c) HNO,
CATTIIR FUO FAA CFCG (FING AGE?

(a)Cl~ >F~ >Br- (b)Br~>CI">F~ (¢)F~ >Cl” >Br~
Sy1 W32 El fferam o=y FResm Sowas e @i ?

(a) TS TRF (b) TERGATARE  (c) ST mRE
(a) 2n? (b) 21+ 1) (c)2(21+ 1)
o @ererE (FHbre ARG A E AT @N?

(a) NaCl (b) CsF (c) CaCl,

GfSires Sgel F$7 73 o= Tom?

(a) K¢ () Kp (c) Ka
CAIBIRTE™ “afors Cofd F41 A~

(a) TTETF (b) FEC (c) FAPTCoAT=

Na - Na* + e~ "&b 9o -

(a) T fafeFar (b) Te-o1g R[Rfrr  (c) et Rfesm

R IFHCTR I A1 Joeet 5 ¢ et I Ar?
(a) QYRGS I (b) FTACAET IHA (c) (-SfSTAG IHF
T FINICOIANFTS JRRFC AR AT (@962

(a) O, (b) Cl, (c) N2
FAGI: (c); Hy — T TN, I SIHANEAT Sl IS I
N, — @3 JCACR TH©F (FINOIAFS wFet

[¥2 N,, H, 93 Tnizad (e (AR | ©C3 He JAIACAM]]
e o EE e & fee & @ ?

(a) FrEeifer (b) 552 (c) (AT
TR [RfGaw @Eit awey 23 791?

(a) PCIICEE 10% TG (b) STl 60° (ORELIER
59 @Rt EEela e omd w5?

(a) HCI (b) Na,CO3 (c) NaOH
EHN-TH |

(d) 2R

[Ans:
(d) 180°

[Ans:
(d) 11.2 kms™?

[Ans:
(d) CHCI;

[Ans:
(@):Cl~ > Br~ >F~

[Ans:
(d) Fators wes

|Ans:
(d20+1)

[Ans:
(d) AlCI;

[Ans:
(d) Kq

[Ans:
(d) CFIRANSTET*I

'[Ans:
(d) Rere-wr¢ fafewa

[Ans:
(d) CA=B1RT I3

[Ans:
(d) H,

[Ans:
(d) STFOICCH

[Ans:
(d) ST “Arew

[Ans:

(d) Na,S,05

b]

d]

b]

b]

c]

d]

b]

b]

b]




14.  foee i faferaifs carem st e z0e @ 212 [Ans: b]
(a) CH3CO0C;Hs + H,0 — C,H50H + CH3COOH (b) CaCO; — Ca0 + CO,
(c) AgNO3 + NaCl —» NaNO; + AgCl (d) CuS0,5H,0 — CuS0,3H,0 + 2H,0
15.  7&a SeEa cafiE @mis? [Ans: a]
(a) Rearem Fataa W a9 (b) RIS @ata T @ N
(c) Fifameel ST =@ (d) wfe=s wifasrieet il v e
16. T @ St Afew c@r?
(a) 2-Ne3H-2-REBET  (b) REGEE-2 (c) 2-faZ-1-RTo e (d) fAT51wa
FAATY: (b+c); STAIS AT @0 FIZAE FIET AT |
CH,
| H H CH; H
CH, b8 (o) | I
| ; H-C-C-c¢c* -Cc—-OH
CH; — C*—OH | | I
| H H H H
H
17. 5% NaOH @3 1000 mL %4t $© 1% NaOH 2AF?
(a) 5g (b) 25¢ (c) 40g (d) 50g
STAA: (d); %x = 5 X 100% = 5% = =X 100% = W = 50g
18.  wfafeER @3l emgad €19t (e féiresi? [Ans: c]
(a) BTG féTesy (b) TS féizesy (c) 5 féiTem (d) Frret feieesy
19. M8 I i ToAfgS [aa 27- [Ans: a]
(a) CO (b) CH, (c) CFC (d) SO,
20. RURE SIS AAE T FAER To47 T b1t Fa0e By <3
(a) FANHACZIZT (b) WoEfERRE  (c) wmfiBRm (d) afew

C
STRI: (b); CH3CH, — OH - CH5CHO + H,0
5 RlE DS ey
21.  fAt5a @IS Sromae eom fAsae?

(a) FfEras/ e ) Rfe=/feR - (o) TRErew/eRE (d) TRt/
AAG: (b); ey e e s | STerEe eo7 SN 2ok TETE |

22, IR (I TAMING SN TN GO ICG? [Ans: c]
(a) Tard g (b) AT (c) FFrre 1w (d) =2

23, cifoT *MrER 2w @ mE? ' [Ans: a]

(a) AZ-ZTEH A= (b) = AAw (c) @fS= ==t (d) R
24.  WHO &3 JAIf WA ppm GITF WA FCE Q2T Tl F672
(a) 0.01 (b) 0.05 (c) 0.04 (d) 0.06
AT (b); ST f=rem T@r = 0. 01 ppm
ST FZTAE W@l = 0.05 ppm
25. 7T GFINTCOIRE @b Twge? [Ans: c]
(a) S B (b) fHFBIo “irew (c) A NS (d) #Ires

|t ~ QIEBT




Biology (MCQ)

01. SINITAS T NTed (IS I 572 [Ans: a]
(a) Tenualosa ilisha (b) Tenulosa ilisha (¢c) Tenolosa ilisha (d) RIAIDE 7

02. (=I5 fra Tfew zem- 4 [Ans: a]
(a) CAf% & (b) el (c) ot (d) @&

03. f& et wwgeyd- [Ans: d]
(a) RAIF (b) CRTE (c) IR (d) TG

04. C, Sfew zre- [Ans: b]
(a) S (b) = (c) *I (d) =g

05. 4 @ aFfoq Fe1? [Ans: d]
(a) T (b) @ (ORIEL: IR (d) i

06. e Bfem AMF @ AFCBRAI- [Ans: c]
(a) Pseudomonas (b) Azotobacter (¢) Rhizobium (d) Clostridium

07. WINICACRR TFCS SORE Y1S [T FABAS 20T IFT0 I (HICY S| ATE? . [Ams:c]
(a) JCTE (b) TS (c) ARTFITEH (d) AR

08. &fSTAD TN A=~ [Ans: a]
(a) Fo2TT® 319 (b) JIATC @ (c) & (I (d) ferTs

09. Poaceae (@4 Sfema wIN- [Ans: c]
(a) GG (b) T (c) 3P (d) =1

10. WEHA ACATHS sy $97? [Ans: b]
(a) 2.02 (b) 1.065 (c)1.506 (d) 2.500

11, SIZCEGT &9 FHRII (AT [Hee - [Ans: a]
(a) T (b) YT (c) *FEN (d) FALTTR

12. @ SfEo Tt @22 [Ans: c]
(a) SpferT (b) TSI (c) SFIGET™ (d) cofom )

13.  FAqFAF fRees- [Ans: c]
(a) NI (b) SHIIZBIFT - (¢) MR (d) FAGTET

14. (T YIFORAE NI BCI? . [Ans: a]
(a) C.G. Ehrenberg (b) FreE= &= (c) TG (d) TP

15. faea W 21 @nifze Ffiwr Mo @132 [Ans: b]
(a) TG (b) T . (c)TB (d) FITAIBE T

16. Afd =515 FeT - IIF? [Ans: d]
(a) JLII& (b) IS (c) oIS (d) AR

17. 3 T tafiEy e gt #i o e ? [Ans: b]
(a) Epistatic gene (b) Hypostatic gene (c) Lethal gene (d) Complem

18. QrelaE aifga SagH- [Ans: c]
(a) forzarm (b) §= (c) coTed (d) ¥

19. W fas I A77? [Ans: d]
(a) PA-EFRA IS (b) W= (c) I TR THZT  (d) TSR




20. (¥ offeFaE RFHREE DNA tofd 22 it it 341 ? [Ans: s]

(a) &= atFree (b) GG &FE  (c) WAGNG EFHET  (d) TR AT

21. 53 6 =T s Sfewm? [Ans: a]
(a) SIIeg (b) #I15 (c) T (d) cofaes

22. (I CIItad “fSee Coft Fa? [Ans: b]
(a) TS (b) FEF R (c) G (d) i3

23. (N AT tms? [Ans: c]
(a) TG (b) A9 (o) R (d) TF

24. i3 M QITITS FICH AN (FIH G0 FIPCORAT? [Ans: b]
(a) Azotobacter (b) Clostridium (c) E.coli (d) Rhizobium

25. oo AReqeCs 6 qeer? [Ans: c]
(a) GfreIfs (b) arHCIFT (c) @forgs (d) aTereifiT

English (MCQ)

Fill in the blanks with appropriate (s): (1-4)

01. There are — dangerous drivers. [Ans: d]
(a) a very lot of (b) very much of (c) a very much of (d) a lot of

02.  She died — malaria but her husband died — grief. [Ans: b]
(a) of, by (b) of. from (c) by, of (d) from, of

03. A man is known — the company he keeps. [Ans: a]
(a) by (b) for (c) with (d) from

04. Who are eligible ~ higher education? [Ans: c]
(a) on (b) to (c) for (d) in
Find the synonym of the words:(5-6)

05. Gentle [Ans: c]
(a) Harsh (b) Clever (c) Modest (d) Rude '

06. Miserly [Ans: d]
(a) Flexible (b) Munificent ' (c) Tidy (d) Small
Find the antonym of the words: (7-8) .

07. Amicable [Ans: d]
(a) interesting (b) Loving (c) Affectionate (d) Unfriendly

08. Hilarious [Ans: b]
(a) Jovial (b) Despondent . (c) Pensive (d) Glory

09. Choose the correct sentence: [Ans: b]
(a) One of my friends are a lawyer? (b) one of my friends is a lawyer.
(c) One of my friend is a lawyer (d) One of my friends were a lawyer.

10.  Choose the correct sentence: [Ans: b]
(a) You had better went home. (b) You had better go home.
(c) You had better going home. (d) You had better gone home.

11.  Choose the correct sentence: [Ans: b]
(a) I am looking forward to see you (b) I am looking forward to seeing you.
(c) I am looking forward seeing you. (d) I am looking forward to has see you.

T - ) o |
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12.

13.

14.

15:

16.

17.

18.

19.
20.
21.
22.
23.
24.

25;

Change the narration: (12-13)

He said, ‘The train reached at nine.’
(a) He said that the train has reached at nine.
(c) He said that the train reached at nine.

he said, “‘Whom do you want?’

(a) he asked my when I had wanted.

(c) He asked me when I had.

Change the voice as directed: (14-15)
What did they pay you for doing the job?

g

(b) He said that the train had reached at nine.

[Ans: b]

(d) He said that the train has been reached at nine.

(b) He asked me whom I wanted.
(d) He asked me if I had want.

(a) What had you been paid for doing the job by them?

(b) What you were paid for doing the job?

(c) What were you paid for doing the job by them?
(d) What were you being paid for doing the job?

‘Let the book be read by you’

(a) Read the book

(c) Let read the book by you

Change the sentences as directed: (16-17)
How beautiful the night is! (make it assertive)
(a) It is beautiful night

(c) It is very beautiful night

(b) You are to read the book
(d) let the book be reading by you.

(b) The night is very beautiful
(d) Night is very sweet

I have not praised the girl. I have not criticized her either. (make it compound)
(a) I have not praised the girl whom I have not criticized her either

(b) I have neither praised nor criticized the girl.

(¢) I have not praised the girl and I have not criticized the girl either

(d) I have not praised and criticized the girl either.

parts of speech: (18-19)

He waters the plants everyday Here ‘waters’ is-
(a) adjective (b) verb

Which one in Reflexive pronoun?

(a) He (b) Each
Translate into English: (20-25)
TP N1 RET AT =T

(a) masuma could not but to laugh.
(c) masuma could not self-laugh.
S BT IR A e

(a) I was supposed to go Dhaka.

(c) I am to go to Dhaka

FEF OICF foaFa FACeT |

(a) The authorities criticized him.
(c) The authorities took him to book.
ISSEIQRERER Z (D]

(a) He is boiling with anger.

(c) He is bursting with anger.

@3 IR oife nre |

(a) Give me change for a taka

(c) Give me a change for taka

T oS 4@ |

(a) He is very cunning

EN-T@E

(b) He is very clever

] a9

(c) adverb (d) noun

(c) Myself (d) Who

(b) masuma could not but laugh
(d) masuma could not be laughing
(b) I have to go to Dhaka

(d) I need to go to Dhaka

(b) The authorities gave reins to him
(d) The authorities took him to task.

(b) He is burning with anger.
(d) He is bursting into anger.

(b) Give me change a taka
(d) Give me a taka change

(c) He is very sloppy

(d) He is very witty

[Ans: b]

[Ans: c]

[Ans: a]

[Ans: b]

[Ans: b]

[Ans: b]

[Ans: c]

[Ans: b]

[Ans: a]

[Ans: d]

[Ans: a,b]

[Ans: a]

[Ans: a]
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Physics (MCQ)

MEq o fawel FaeT 2NfEfHe Ammm ey Fo 2a?

(a) fRad (b) feqee (c) BIR&e (d) “iiae
AL (¢); v2 =u? —2as=s =£[§§T@@"T, v=0]

= soo u? [P G T, a = IF

AN, M eirfie @ fawet 20, el ammme aag, s = (2)2 = 4 )

TR O ©G AN« I (F7? [Ans: a]
(a) RZCATH (b) fA€5w (c) TS (d) 271%

@fS8 SZENBITA I @52 " [Ans: d]
(a) ¥R 4F P (b) WATMEER Bz fofeesmm

(c) ARG RSTRTATI AR 417t (d) F<ABre

@35 A5y TR TS 20m GIR PT 2m | GF AR 24 TG BT Ay TS A= | A=
TS FO7?

(a) 6.53 H.P (b) 5.73 H.P (c) 4.63 H.P (d) 1.67 H.P
STY: (b); @9, 1 = 20m; r =2 = 1m; t = (24 X 60)s; h==2=10m
p= VTV - ngh £ thgh ot ’"Z'tpg“ Z 3'1“(1)2’(‘;2:;3)00”"8“0 = 427388 W = _“277;88 HP = 5.73 H.P
FIITRIRD CFCE (I IE SI2N@AT 50°F Z0e (oo (B0 @ Siowar Fo?
(a) 273°K (b) 283°K (c) 290°K (d) 300°K

. (hy. F-32 _ K-273 _ 50-32 _ K-273 I L
A (b); —— = —— = ——=-——=K=1283K
75 ST SIS T 7RG LS Sl 0o GR BIE 7ioa W ST 4 T 2071 I T F© 72
(a) S (b) fager (c) BrRG . (d) Sefaf$e Qe

UL 1

TYE: (d); F, =Fleox (22)22 =>F, =é%x§ F,=F,
BTEF CF@ SN L @ I #11® 3 ©f @57 o S 33?2 [Ans: a]
(a) LT @ (b) ST (c) LTI sy (d) IR 77
AR OB 18- [Ans: c]
(2) B 7f6 TR AR (b) Ffom e Bt AR () FoReT® T 70 2 (d) oo Bt zrw =@
TEI FF WIS ERYS W FPNTHET A 20 G602 [Ans: d]
(a) G (b) TfeBM (c) 5 o= (d) SgTm
YRS S SIS F AN 939 T A2 [Ans: d]
(a) 12 (b) K= (c) SHTBR (d) GwEE

EBWN-Tts oy ; 179 i S




11. €feq 9%[ SR @ @ $9?

(a) % xatls 2 (b) % radmin™?! (c) 3% radmin™?! (d) % radmin~!
AAH: (¢); w = Z—T—" = 122:60 = %radmin“1

12. O 49 FAOF AFF (FA67? [Ans: d]
(a) GG (b) ST/ (e (c) S (d) T/ @fes

13. 4 Ut ~RFNTS AT SPTS TS AT ACH? [Ans: c]
(a) 8 TNTAFIE (b) b GTTFS (c) b =G (d) b T%r

14. @9 A uba 93 @ W@ @FR? [Ans: a]
(a) FE-*f& (b) FIE-FTS! (c) FO-*f& (d) IF-58F

15. G IS WINGRCE eI AL T4 ? [Ans: c]
(a) ANBARTSTA (b) TSI (c) cfers (d) FIHE 77

16. A=—-BZ@A.B=39?
(a) 1 ()0 (c) —B2 (d) —A?

FAGA: (c); ARG A = —B ~ A.B = B.Bcos 180° = BZ x (-1) = —B?

17. fornficas afSwars 1.48 (a1 €3 AH0 (@19 F© FI?
(a) 24°14 (b) 50°17’ (c) 42°40' (d) 48°20’
STAA: (0); B = sin~? () = 42°30" ~ 42°40'

18. &3 PTG TBI A F© T ? ,
(a) 3.6 X 10°J (b) 3.6 x 10] (c) 3.6 x 107] (d) 3.9 x 10°]
FAYA: (a); 1k — Wh = 1000Wh = (1000 X 3600)] = 3.6 X 10°]

19. TP 9IS FCODHAA PR GF0 AT A MFNPE F© A?
(a) 0 (b) 3s (c) 2s (d) o

W:(d);T=2nJ§=2n\E=OO['.'g=O]
20. G5 FCHB AN GIET ToNTER T THTR | AL IS Gae 5e1R?

(a) 0 (b) g (©)g (d) g
FAMYH: (c); F=m(g+a)=>ma’'=m(g+0)[-a=0]=ma' =mg-a' =g

21. o oo ©ofer (Fiq AR T Xel- [Ans: ¢]
(a) E =2 (b)E:% (E="H : (d) E = Vyd

22.  &fS ECe 10 fFHR 2N 10m T2 (SR &) TF© F© FAOR AT WaSE?
(a) 980] (b) 98N (c) 980W (d) 98KW
W: (C); p= mtg_h — 10x9.8x10 — 980W

23. YR sifere se 18- [Ans: d]
(a) TR T@r ARSI (b) @ F&WT AN

(c) TG “IfASTa AK whed Ao 96 (d) =fS 4w AN AT
24, Ty EHITER A S ~AfEr 2T AoIot A JESI 2T I ARAN Ao w07 T F qweT?

(a) fEmEs (b) fEE= (c) ST 2fem (d) @FE=BT [Ans: b, d]
25.  ofil T 2m THOIW 40N ST F6 IFEE 25 40 ACS PG AN F© A?
(a) 40] (b) 120] (c) 0] (d) 240]

FAIG: (c); IECE 4T AXCS FOBIG 4, (oFell (AT 73 LR A |

|l oS _ IERUNE.
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Chemistry (MCQ)

01. JFLACHA eI farer A1 Coete smid “iferi sar &g B I92F 91 22 [Ans: b]
(a) K,Cr,0, 8 H,S0, (b) K,Cr,0, @ 9 H,S0,
(c) "6 K,Cr,0, H,S0, (d) 115 K,Cr,0, @ 1% H,S0,

02. BHT & f&omme ez =? [Ans: c]
(a) STFONR IR Grers (b) BB aters () WifSwfEres (d) @Fgters

03. (9 IS STP =2 [Ans: ]
(a) 25°C, 1 atm (b) 0°C,760 cm AW (c) 0°C,76cm W (d) OK, 760cm

04.  ABIMIT ARTHTACG SHT T YRGS ATHZE I FACET AT el A2 R AR
qH? [Ans: b]
(a) +6 TS +3 (b) +7 T© +2 (c) +7 S +5 (d) +5 S +2

05. faeee @b Srogdr fRfeFan?
(a) C+ 0, - CO, (b)N; +0, > NO  (¢)S+ 0, - SO, (d) 2H, + 0, - 2H,0

FAAGE: (b); AH = (+)ve 20 [T SRt @2 AH = (—)ve 20 [Rferam oreresimi 27
N2 + 0, > 2NO; AH = +180 kJ/mol. side RfeFfs sromrat

06. TR SICINR @FIG? [Ans: d]
(a) HCNO (b) C¢Hg (c) NH,NO, (d) NH,CNO

07. 1B 5(N) CTERN TREART 2F© 408 F©FF NaOH #A1I7a?
(a) 100g (b) 200g (c) 300g (d) 500g
A (b); S = - == = 5M; W=SMV =5 x 40X 1 = 200g

08. BT frpfeR @ srewar F@SIT H,S0, I35® 2 [Ans: d]
(a) 3.5% (b) 2.5% (c) 0.5% (d) 1.5% .

09. & oiferer i e w=EE- [Ans: b]
(a) 1 &7 (b) 0 &FTof  (0) 1V &kt (d) V &Ftot

10. ARSI AIFS (FF0? . [Ans: ¢]
(a) C¢Hg (b) CeH1o (c) CeHy (d) C¢Hyy

11.  fwea =G tor @t w172
(a) AfEw (b) Ffafew (c) RTPIRA (d) B 77
FA: (d); (TR (@Y IS YRGS 8 FIEA A1 e FR@IFIEA (AT THS @RS @RI
A& — SRS Gt
fAffes— b s G
ARSI Smfernafas amt
@I & e o Qe
w4 1R @913 to @ |

12. TS fRfeaw @ ormes smedy 1 o e 78 2 [Ans: d]
(a) “if® = (b) TS =fE (c) (15 =& (d) TrerR *fE




L T

13. 1 mole a3 o1 F© &M™?
(a) 18 (b) 20 (c) 36 (d) 1.8
Y (a); H,0 I TRRE©A=2x 1+ 16 = 18
w¢fie 1mol H,0 @3 ©F = 18g

14. @ w3 =feEr afe? [Ans: d]
(a) HCIO, (b) HCI (c) HCIO, (d) HCIO,

15. f¥cea et @Eit I J7? [Ans: a]
(a) MRI (b) X-RAY (c) IR (d) UV

16. TGS ot @02 [Ans: a]
(a) feCToa (b) =T (c) oot (d) A&

17.  0.15mL 0.15 M CH;COOH 4l 6ml 0.15 M NaOH @<l caret 31 o=, et pH A #9?  [Ans: d]
(a) 4.58 (b) 4.85 (c) 5.85 (d) 13.15

18. (WA FoE @f=? [Ans: ]
(a) GPICATP (b) firees
(c) B2 SIETCHIRE (d) for=ize @rze

19. TH® M SIS (@9 TAME T ACH? [Ans: a]
(a) foreifem (b) FCIf (c) CrefEeTe (d) 51

20. JFE WA (BT FH? [Ans: b]
(a) pH #ffsa =41 (b) pH #fdReq @¢ T
(c) pH Jface 77T 1 (d) AT

21, F71R fofesi fResa FF Glieifs T59%e =a? [Ans: d]
(a) Ra (b) Fr (¢) Th (d) Rn

22, K, [Fe(CN),] &fbe1 Gt Fe &3 QIRel R F97?
(a) +2 (b) +3 (c) +4 \ (d) +6

F: (a); K, [Fe(CN)g] SBa QA Fe @ TR 0T x A,
FDX4+x+(-1)X6=0=2x=6—4=>x=+2
23.  500ml 0.5M Na,CO; B4 tof F4C® FOpF Na,CO; U3 A& ?

(a) 53g (b) 10.6g (c) 26.5¢ (d) 2.65g
AL (¢); W = SMV = 0.5 x 0.5 X 106 = 26.5g

24, foa @0 % SAN@E ©F6? [Ans: b]
(a) F2 (b) Br, (c) Cl, 1,

25. T3S fAiTesin 24w FIBINE @2 [Ans: a]
(a) Ca0 (b) Al,04 (c) Mgo (d) CaCO5.MgCO;

I sew-SwrE RN 2
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Biology (MCQ)

01. 3 aFe T & Teome = @HG? [Ans: d]
(a) &ty AfT (b) /® (c) AT (d) TR g

02. (G IS FIIF? , [Ans: a]
(a) GFIGEN F1ZATE O)ERENFRIR (O ITAFRE  (d) NG FIRA |

03. IR I &I cerelB Ffd? [Ans: a]
(a) caiifow ¢ fNefgs ufte (b) *Far fefge ufsre
(c) bR ¢ SR afste (d) *ZF3r @ SR «fe

04. (lfox “ifReitea K0T =g @672 [Ans: d]
(a) SAfeCo7GI3T (b) ceforas (c) Co1?BIZ® (d) SR @fre

05. ZIIHITS (@I (A= g =72 [Ans: b]
(a) SRS (b) *RsTS OREGEE (d) @TAIHE 77

06. INFAfOF fFerew @WB?  [Ans: b]
(a) SCA (b) RTBIT (c) STTIRCBIFRT (d) FAETR

07. WICET I FOf6 BN ATH? [Ans: c]
(a) 22 (b) 46 (c) 44 (d) 23

08. T A 2 STILT I T J? [Ans: b]
(a) 2T PR (b) 9TETE &FT  (c) B (d) CofeEETa

09. SATSR o] Te Fefired sifs- [Ans: b]
(a) T (b) AITT (c) 9L AT (d) R 77

10.  NICATR GFITIITATN GF H70- [Ans: ¢]
(a) S cerel (b) ¥ ceret (c) R© cE&rer (d) e cErer

11. @ & 2rew o5 59? [Ans: d]
(a) I TITTHRT (b) FIATHFIA N (c) s (d) AETFE TIRIHZC

12. AT BfammT $© Ae s oey e ? [Ans: c]
(a) 1870 (b) 01753 (c) 1678 ) (d) 1668

13. @E0 AT T2 [Ans: a]
(a) TS AT o (b) S (c) &I (d) SHITSICHTS!

14. Nostoc (@9 4=a &K? ' [Ans: b]
(a) LB (b) T WFEBRA (c) TS (d) iz

15.  cifzs s we v 3ioce #ita? [Ans: b]
(a) S0 e (b) 380 = (c) S¥o (d) Svo

16. (I 404 Sfem SHEFSIRAT ATH? [Ans: b]
(a) T Ofem (b) TeTe Sfew (c) 7 Tfem (d) RETNR AT

17. ey FHEiR @7 FIZAN 7= F97? [Ans: c]
(a) 3 (b) 4 ()5 () 6

! 13§} S
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18. fAtarea T JF Teom 2 ' ‘ [Ans: ¢]
(a) T (b) IS (c) S3TAT (d) &t

19. &fs =g syrcafaa sjfEre wa ATP ees Zx? [Ans: a]
(a) of% (b) oo (c) 83 (d) 5

20.  iTveR ANeT (@1E @2 [Ans: b]
(a) TLITIRE (b) et (¢) *1ATAG (T (d) ETifEe FElaw

21.  (COETARTIR Tra 390 U0e feow? [Ans: b]
(a) vfo (b) Soft (c) ufo (d) 535

22. RNA (S @0 ATF 1?2 [Ans: b]
(a) STfefas (b) AR (c) eI (d) TeIfFe

23. HIRE IR & Wil fee (Gene) ¢ 6 9012 [Ans: c]
(a) Dominant gene (b) Recessive gene (c) Lethal gene (d) Complementary gene

24, @G Y SR ALIAN? [Ans: b]
(a) TC (I (b) 1 T (c) SHRY (d) FASTAIR ASF

25. ofem fogtaa Fras s/a<Sr wit (@62 [Ans: a]
(a) A= (b) T (c) &t (d) TB1EA

English (MCQ)

Find out the antonym of the word: (1-2)

01. Harmony [Ans: b]
(a) Admiration (b) Discord (c¢) Co-operation (d) Co-ordination

02. Smart [Ans: ¢]
(a) Irrelevant (b) Borin (c) Stupid (d) Difficult
Find out the synonym of the word: (3-4)

03. Prolong [Ans: b]
(a) Redeem (b) Protract (c) Curtail (d) Reduce

04. Delicate _ [Ans: aj
(a) Fragile (b) Stable (c) Obsolete N (d) Thick

05. Choose the correct sentence: [Ans: a]
(a) The jury are arguing among themselves (b) The jury is arguing among themselves
(c) The jury are argued among themselves (d) The jury has argued among themselves

06. - Choose the correct sentence: . [Ans: d]
(a) I need a few furnitures (b) I do not need many furnitures
(¢) I do not need a few furnitures (d) I need some furniture
Change the voice: (7-8)

07. Take care of your health [Ans: b]
(a) Let your health taken care (b) Let your health be taken care of
(c) Let your health taken care of (d) health is taken care by you

08. He was seen by me carrying a basket. [Ans: ¢]
(a) I see him carrying a basket (b) I had seen him carrying a basket
(c) I saw him carrying a basket (d) He saw me carrying a basket

0 few-Sws
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09.

10.

11.

12.

13:

14.

15.

16.

17.

18.

19.

20.

21,

22.

23.

24.

25.

&

U

Change the speech: (9-10)

Anis said, ‘I must write a letter’

(a) Anis said he must write a letter
(c) Anis said he had to write a letter
He said, ‘Alas!” ‘I am ruined.’ ;
(a) he exclaimed with sorrow that he is ruined
(c) He exclaimed that he was ruined

;™

2R 8 AN

[Ans: d]

)

(b) Anis said that he must write a letter
(d) Anis said that he had to write a letter
[Ans: b]
(b) He exclaimed with sorrow that he was ruined
(d) He exclaimed with sorrow that he has been ruined

Fill in the blank with appropriate word, phrase and clause (s): (11-17)

If you had come, I there. [Ans: b]
(a) would go (b) would have gone  (c) would be going (d) will go

Ana and Nipa ---- not ---- to each other for two years due to a misunderstanding. [Ans: d]
(a) are, spoken (b) are, speaking (c) has, spoken (d) have, spoken

We are working together for a common..... [Ans: d]
(a) Courtesy (b) decency (c) people (d) purpose

We agreed ... a certain course of action. [Ans: d]
(a) with (b) for (c) at (d) to

The family does not feel .... going outing this season. " [Ans: ¢]
(a) in (b) on (c) like (d) of

You had better ...... the law. [Ans: d]
(a) obeying (b) to obey (c) obeyed (d) obey

No sooner had the thief seen the police man... ' [Ans: b]
(a) then he ran away (b) than he ran away  (c) he had run away (d) when he ran away

Change the form of sentences as directed: (18-19)

He is too weak to walk. (Complex)

(a) He is very weak and so he can not walk
(c) He is not so weak that he can walk

He is the best player. (Negative)

(a) No other player is as better as he

(c) No other player is as best as he

None should deny the truth. (Affirmative)
(a) All should accept the truth

(c) Everybody should admit the truth
Choose the correct form of verb: (21-22)
He (go) to bed at ten o’clock every day.

(a) gone (b) going

Would that I ...... in the sky!

(a) could fly (b) fly

What is the meaning of the word ‘offspring’?
(a) Twins (b) Children
Translate into English: (24-25)

OO CoIT TR IO 2= |

(a) The wind is blowing strongly

(¢) The wind is blowing

P & IR #Tg o1 FraR?

(a) Have you read complete book?
(c) Have you finish reading the book?

[Ans: b]
(b) He is so weak that he can not walk
(d) As he is not very weak he can walk

[Ans: b]
(b) No other player is as good as he
(d) No other player is considered as best as he -

[Ans: c]
(b) Everybody should deny the truth
(d) Anybody should deny the truth

[Ans: c]
(c) goes (d) went

[Ans: a]

- (c) flown (d) am flying

[Ans: b]
(c) Strength (d) Winter

[Ans: a]
(b) The wind is blowing with deep sound
(d) The wind is making whipping sound

[Ans: b]

(b) Have you finished reading the book?
(d) Have you finishing reading the book?
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Physics (MCQ)

01. «3fC TS GIB I N ANGACET H1C 30° (I 40 m/s (A0 F0@ | F10 ' o vea Fiey g

ATCA?
(a) 141 (b) 71 (c) 138 (d) 61
STAIY: (a); R = V‘Z’Si;‘”" = QOPXSnSl' _ 14139 ~ 141m

02. foFar e efsfaam TSt @it TN 972 [Ans: d]
(a) 0° (b) 60° (c) 90° (d) 180°

03. g I8« sifexf& (K.E)- [Ans: a]
(a) 5 lo? (b) ;0 (c) Iw? (d) 512w

04. @3B IR SR AT 2m @ AT Smm | J SRBH 07 faed @ T S 41 W, O SRIGA AT
@TER I Afed ZI? [Ans: b]
(a) STATFT @14 EF R (b) SCAFFS (@14 92 AR
(c) ST @Y fawe T1 (d) STHATFF @Y SR -

05. 63 FAoa 897 (ST GNTeR SG&I WSq FR? [Ans: c]
(a) STPINI@r (b) 519 (c) CTIT=R &pfS (d) GliteTa “fse

06. @35 faaw BB B frea eat == Mo footm e ek =1 Brw Fartes e @@ Fo
eifRe = ? [Ans: c]
(a) TCRGA (b) c2ABH (c) ¢S R IR (d) AT oz s

07. <RI OIS IF OIF (ST STHa A Fo fofe) el I AR? [Ans: b]
(a) 16° (b) 18° (c) 20° (d) 22°

08. TP T[S T TRLS g O M FCHA . W A2
(a) 2.V2R (b) 4R (c) 1.8R = (d) 3.6R
AAG: (C); g’ = (1 +§)_2g=>§= (152)2:’ (1+§)2 =8= 1+§=2\/§=>§= 28—-1:h=18R

R

09. FANCEIE 8 FAARO FTCH HCHAF (FCad AIGH (FIAI? [Ans: a]
(a) >R fota (b) IS GFTS  (c) (1051 AT (d) s foeram w4y e

10. e T T I v FAAT AT AfGIS 2€TATE FF ACA? [Ans: ¢]
(a) TS (b) IS (c) TS (d) *fE=

11. 3 SHN@R IPTS *THF @ 0°C OIAN@AR @097 fawel 20372
(a) 818°C (b) 810°C (c) 820°C (d) 819°C

FTAYI: (d); @R, Ty = 0°C = 273K; V; =V = V, = 2V

/YR Vl \/f h’ T, = 1092K = (1092 — 273)°C = T, = 819°C
2 2

B smm-Sem I o
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

«3fB BT farers I #1CF 80 G TF FItF 100 341 A | I AT S F© AL AR, NS AMI?

(a) 22.22 cm (b) 44.44 cm (¢)11.11 cm (d) 66.66 cm
FAGI: (b); g = ﬁ === mg_e = 101 = 800 — 81 = 181 = 800 - | = 44.44 cm
O35 OIE APNE fawd T €3 3[R -G QAT T FI? [Ans: ¢]
(a) fawd =7 (b) SEF T (c) TS AP (d) T IR
4 (e Rfeaet [esmaeas s @ seoncds f[ifae 205 St 500 nm A FE7§Ted Sromal Fe7?
(a) 5800 K (b) 2.9 x 103K (c) 207 K (d) 500 K
AATYIF: (a); Wien’s displacement law W?Bﬂﬁ,
Amax=$ Amax = JTE ST Ace RiFarea Siqet 7ems 27|
2.898x103 b = Wien’constant = 2.898 x 103 mK
= T="——— =5796 K ~ 5800K < i T
T OIgel Wred @i Af*ifba ofw e wa? [Ans: d]
(a) STTAGS (b) = (c) S04 B (d) FAISTZ
OF ARG (O (1 eV) Fel-
(a) 1.6 x 1077 (b) 1.6 X 10] (c) 1.6 X 10719 (d) 1.6 x 1017

WZ(C);V=%’=>W=Vq=1vX 1.6 X107 => 1eV=1.6 x 10719]

TSR TIE (TF 36 Femif FTs 2T ¢t 3m s gfiite «ft ¥ @t simars F93?

(a) 9.7 m/s (b) 9.1 m/s (c) 7.7 m/s (d) 8.7 m/s

AMEI: (¢); 9, u=0ms™1; g=9.8ms™?
vZ=u?+2gh=>v?*=02+2%x98%x3=>v2=588.v=77ms"?!

@B FT 2m IPICER JOIFIF #it2 &fe [T 100 79 (AT 1 97 (ART @ F97?

(a) 125.68 m/min (b) 1256.8 m/min (c) 12.568 m/min (d) 1.2568 m/min
AMYEN: (b); v=rw =r X @ =2 x 2100 .y = 12568 m/min

1 m WY @35 GireT Sid wta fea SA R 231f%e 205 | 76 0.1 Wh. m™2 1 ¥90ga @ 7
BIFF CHRER AN 30° (I IF2 ST TG FACE IS NAF 0] SO IAI?

(a) 0.25 N (b) 0.50 N © (©) 125N (d)0.75N
AAY: (a); F=1IBsin® =5 x 1 X 0.1sin30° = 0.25N b
50 cm €32 51 cm TGRFE qFd 35 ufo =i 7t af eeate 3% [eba 92 =7, IRTe 17w @ 3?2
(a) 300 ms™? (b) 303 ms™?! (c) 306 ms™?! (d) 309 ms™?
AMYT: (0): fy == ——=Y: f, ===
() f1 = 4, ~ 4x05 2’ f, = 41, ~ 4x0.51 2,04

= i Y = R & = -
99, f; fz—N:>2 Yy 3 . v=306ms

0.10 m CFIRFT RAGRE GFb S0 W (AT FONA I Fl7H I fomed [afde afefem iz
}[?

(a) 13.5m (b) 0.013 m () 13 m (d) 0.13 m
FAAYE: (d); Q@UTH, m = 3; f = 0.1m

v \'4 1 |
m=-=>3=-s-=—

u u ' 3u

3 sTe DI(EVE - 4R01) = 2A5e0 o el
W,E+;—f=>u+ u—0‘1=3u—10=>u il 0.13m
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22.  O3E f@BR G TACF AEH 100 m SRR F0G TOTS A | G952 9706 93 (@00 FFeadia Wi
(A 7 TMTF AETH F© THOR FOTS ARI?
(a) 50 m (b) 75 m (c) 100 m (d) 150 m
ANYE: (a); Ry, =VE2=>V2 =Rn Xg[*Ry=100m] =>v2=100g

_ v? _ 100g .

S, Hy = 5= € = Hyy = 50m
23, G5 FIoAT CoI1eTRCE 2V ST B/IS 911 20 6.67 x 1011C 51 Ty | i 174 5972
(a) 30 cm (b) 8 cm (c) 14 cm (d) 12 cm
TAG: (a); v = 7= x 32 2= 9 x 109 x 221 . 1 — 30 ¢
0
24. (I FETSIEA I = 0.95 mA @3 I = 1.0 mA T(E 97 2912 R4 9% o =2
(a) 19 (b) 1 (c) 0.95 (d) 0.5
. lc _ 0.95mA
W.(c);az—gz T a = 0.95

25.  «3f5 B wwaaﬁﬁ%ﬁ\mmmmmmsosﬁzlwwﬁrwm
aeiest @i 475 96 Beofy wea | Seere FH67 F0F T2
(a) 504 Hz (b) 508 Hz (c) 502 Hz (d) 500 Hz
AYE: (a);ng —n; =4 =508 —n, =4 . n, = 504 Hz

Chemistry (MCQ)

01. WI¥R AE @ ITFF 73 [y ?

(a) NaHCO; + H,CO, (b) CH;COONa + CH;COOH

(c) Na,HPO, + H3PO, (d) NH,Cl + NH,OH

FAGI: (a); NI & pH T fzget efenfe NaHCO; + H,CO4 Wﬁﬁwmﬂﬁvﬁ—m
02. w53 A Toyd wwze?

(a) Na,0 (b) Al, 04 (c) Ca0 (d) K,0

A (b); SO SHZE: Zn0, Al,05, Sn0;, PbO, PbO, 2
03. 250 dm® 0.4 M Na,CO; %3t% FS &N Na,C05 WR?

(a) 26.5 (b) 10.6 (c) 8.6 (d) 1.06

AY: (b); 1 dm3 = 1000 cm3

1000 cm® 1M Na,CO; = 106 gm Na,COs4

250 X 1000 cm30.4M Na,C0, = 198X250x1000x04 _ 4 ¢600,

1000
Note: 7% 250 cm3 Z0& Ans B 37|

04. 53 0 s s 791? [Ans: b]
(a) MnO, (b) CO (©)I; (d) H,0,

05. NI IHETIIRR Wy I S ercE?
(a) F; (b) N, (c) HF (d) He

FAL: (d); THAFN I#ICS (I WY KT TATES TR0 7291 A | F, 97 75 @ 2, N, 97 I57F 3,
HF 93 IF9@T 1, He 936 19 SRERT ATF ©I2 93 TR 477 |

ST, |
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06. 52 IEARES afites Twead @i ? ' [Ans: c]
(a) RS @fre (b) =i afore (c) TR afre (d) smferiRfes afre

07. faeg sifite @N @i F=—ww @ gadw? [Ans: a]
(a) CaF2(K,p = 4 X 10711) (b) Ag,S(Ksp = 1.6 x 10716)
(c) AgsPO,(Ksp = 1.8 x 10718) (d) AI(OH)3 (Ksp = 2.0 x 10732)

08. SIZCANBIARRT 1Y G2
(a) Ag (b) Au (c) Ar (d) At

T (87 1R) Option W 46 GNTER &TSFFCAR WG SR |

09. 15N SHRCAGICH NG A1 F9?
(a)7 (b) 8 (c) 15 (d) 22
FAY: (b); NEGF AT =15—-7 =8

10.  Fe,S; T K, W F7?

(a) 96.8S3 (b) 110S8* (c) 1085* (d) 108S°
FANLI: (d); Fe,S; = 2Fe3* + 3527 ; kgp = [Fe3*]? x [S27]® = (25)? X (35)% = 108s°
11, S DI e (TG TS 2 " [Ans: ¢]
(a) 9/-E (b) STreTeT 2y (c) of® @ef af4 (d) SATeTTES A=
12. (@R “&fers NH; SeAmaIce f5d (@M 2ok e 997 7
(a) Mo (b) Fe (c) Ni | (d) Cr

SR () N 4 BH, 2L 2008 Fj°° SN

13. N0 @ TAME 97 TS S5 4T Sy Wiat?

(a) Ca0.Si0, (b) 3Ca0.Al,0; (c) Ca0.Fe,05 (d) Al,05
FANAL: (b); BT T#IfFS 3Ca0. Al, 05 TS &G 4TS AR |
14. I TIPTIES SUATNoS Qe ? [Ans: c]
(a) FIRCPICRCE (b) Qe RHAFRIRC (c) e (d) e
15. faroe =i e e
(a) C+ 0 = CO, (b) N, + 0, = 2NO
(c) CH, + 20, = CO, + 2H,0 ‘ (d) 2H, + 0, = 2H,0,

S (b); N, 0, RS NO, TeoAMT 5121 N, ¢ 0, @7 RfGaa NO st Rt o=t |
16. @HFRT PG o= -

(a) 80.1°C (b) 103°C (c) 18.15°C (d) 99°C
TAY: (a); FFOFIRG BT FHFIT 78.19C 8 ¥ ZANCTA "Fo1F 78.3°C

17. o oY oeman s AIFR0 ARkde =17 [Ans: d]
(a) 500°C (b) 800°C (c) 1000°C (d) 2000°C

18. 1% NaOH %3teid pH $97?
(a) 0.6 (b) 1.0 (c) 13.0 (d) 13.4

AL (d); 100 ml BT NaOH STR 1gm
~» 1000 ml @39 NaOH S(IT? 10gm

- BRI e = i—‘; = 025
- pOH = —log {OH™] = —log(0.25) = 0.602 - pH = 14 — 0.602 = 13.4

TR |
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19. W@?WWWW@T@&W@" [Ans: c]
(a) *ffafes (b) sAfeTor= (c) BFa (d) AfEFSIRRE

20. Mg(OH), 942 H,0 @ fieltss 3= 23-
(a) APTCAT (b) FATC OXIGRCI (d) B3t

TAYE: (b); Mg(OH), + H,0 At i@ SR et aat eize | ars [sifde a@aet 20 i
Mg(OH), @9 3l @ ARl T<Iw 2t H,0 |
21, WRAINDE 9o A FTFES T3 (@02
(a) —CHO — (b) —COOH (c) —=NO, (d) —NH,
FAYI: (d); (I I AFIFRA T&F: —CHg, —NH,, —OCHs, —Cl Tojifir |
@AfEw FeT8 ISR TeF: —NO,, —CHO, —COOH, —CN Zwjifir |
22. fatee @l StaTere R o 2
(a) CH3CHOHCH; (b) CH;COCI (c) CH3COCH5 (d) CH3CH,OH
FTYI: (a); (TR (e Q&eet e e (CH3 CO—) Toie T8I A1 (@11 SIeChIze s 23
CH;3C0 — &F2R& CITe! #ifHere 28 GFTR IR @ SIeies, YITAe 6 $oige it 70 e

TN SR I |

23. O[S IR AT ? [Ans: c]
(a) a — D glucose (b) B — D galactose (c) B — D glucose, (d) B — D galactose

24, ST FICa (dfw TS e si- [Ans: a]
(a) CO (b) CO, (c) SO, (d) CFC

25, WIR A - [Ans: b]
(a) 35 0, (b) 38 CO, (c) ¥ H, (d) 37 Cl,

-

01. P ¥ @4 DNA ST 1S H? [Ans: c]
(a) ST (b) A" (c) AT (d) FIRGIF

02. fTRCER 74 IRBTS =37y Tesiy 7? | \ [Ans: c]
(a) T (b) T (c) fersear==is (d) a=fEe=rs

03. = fram ona fogs wfade = [Ans: a]
(a) A& (b) TT&A (c) BT (d) St

04. T53 (N FToR &I ARG opfea? . [Ans: a]
(a) FEIZ (b) FFIBCERA (c) 2T (d) FTBTS

05. 57 @G 9FcFR? [Ans: a]
(a) A (b) e (c) Ffooiret (d) @IIBE 77

06. wfoTaw a1 - [Ans: d]
(a) CoreTr=f - ()T (c) &t (d) &g

07. o9 @9 Sfewfs ¥R @3 Swizae w3? [Ans: d]
(a) THAS (b) T (c) &l (d) ST*eTr

N ECECER |
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08. (NG IgITEIAT Sfen? . [Ans: b]
(a) AT (b) T (c) &t YSASUEEE

09. ATl (NI RCAT- [Ans: c]
(a) SIS (b) STSW] (c) SETSW] (d) comy

10. AT @G T Sema Se9e 7Y? [Ans: ]
(a) BICEAFIZBT (b) JCATFIRB (c) GRRTerFIZB! (d) fersearirsf

11. %o 8 AT SeAM L4 Fage 20el- [Ans: c]
(a) TR (b) &R (c) S (d) GEFITITATN

2. @SAG TErAd AT @ $A0a? [Ans:b]
(a) *ffereiczre (b) Gacre (c) foze (d) JrAEe

13. e forees we & @A rS? [Ans: d]
(a) T &g (b) ST (c) a3 (d) TP

14.  Adenine ¥ Aa base? [Ans: d]
(a) TACFD (b) o= () CATBIS = (d) TR@EH

15. &t IR ML Food chain &3 61 FT3- [Ans: d]
(a) Primary Consumer  (b) Secondary Consumer(c) Decomposer (d) Producer

16. SfEmtaia 33 TG ACF? [Ans: d]
(a) 800-¢00 (b) yo00-00 (c) R00-900 (d) woo-800

17. &% &= AT AT TH? [Ans: b]
(a) ST (b) TTEfER (c) A2 (d) FTIRITE

18.  WIEAIRMT (1 Reretaa @W BA-+I[410 ‘SR SOk 37g 7 [Ans: a]
(a) *T112f0w (b) GBI (c) QIReAIB (d) feranfom

19. el @t fAf MeAs (Index) AR A& @ SAME 1 2?2 [Ans: a]
(a) fFrafofam (b) Tefa (c) TTfews e (d) foo= 3fe

20. T N TE (@RS et @7 2772 [Ans: a]
(a) oy (b) TP ©g (DT

21. ADH TG @Rl 20 e =1? [Ans: c]
(a) AT &AfF (b) =ifEFE afg (c) PRI &ify (d) QETARGERT &ify

22, TN054 (PN (FTACHIE IR G FoPa? [Ans: a]
(a) LDL (b) HDL " (c) VLDL (d) IDL

23. T (I SIRETA FIROI2A10H 8 GG AH? [Ans: b]
(a) fercBrare (b) o= (c) CATPToTa (d) corenfes

24.  (Aifze SR oy F© w? [Ans: d]
(a) ¢o A9 (b) a0 fas (c) o fa= (d) S0 s

25. ICOCH IC TG AP] @62 [Ans: b]
(a) TR T (b) (IS TEIAB
(c) | TEBAB] (d) Spfet
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English (MCQ)

Choose the correct sentence: (1-3) [Ans:

(a) The sky is over our head

(b) He knows English beside Bengali

(c) Divide the mangoes among the two brothers
(d) He knows English besides Bengali

(a) We paid a visit to his village (b) We paid visit to his village [Ans:
(c) We paid a visit to his village (d) He knows English besides Bengali

(a) I forbade him from going (b) I forbade him to going [Ans:
(¢) I forbade him going (d) I forbade him from not to going

Change the voice: (4-5)

Do you know them? [Ans:
(a) Are they known to you? (b) Are they known with you?

(c) Are they known you? (d) Is they known by you?

Don’t make any mistake [Ans:
(a) Let not any mistake be made. (b) Let not any mistake is made

(c) Let is not any mistake be made (d) Let not made any mistake

Change the speech: (6-7)

Nahim prodhan says that she did not go there. [Ans:
(a) Nahim prodhan says “I did not go there.” (b) Nahim prodhan says “I do not go there.”

(c) Nahim Prodhan says that “I did not went there.”(d) Nahim Prodhan says that I did not go there.
“Will you make coffee?” He said to me. Y [Ans:
(a) He said whether I can make coffee. (b) He asked me if I would Make coffee.

(c) He said to me if I could make coffee. (d) He ordered me to make coffee.

Fill in the blanks with appropriate word, phrase and clause (s): (8-15)

Ice changes  water. [Ans:
(a) into (b) with (c) to (d) in

A friend of mine phoned __ me at party. [Ans:
(a) for invite (b) to invite (c) for inviting (d) for to invite

You had better ___here. [Ans:
(a) stayed (b) stay (c) staying (d) to
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11. Thereis __ hope of his recovery. [Ans: b]
(a) many (b) little (c) very (d) few

12. His performance is better than__. [Ans: d]
(a)l (b) me (c) my (d) mine

13. I __ the 9™ letter of English alphabet. [Ans: a]
(a)is (b) am (c) are (d) will be

14. Heisdevoid  common sense. [Ans: c]
(a) on (b) to (c) of (d) through

15. A person who has lived in and knows about many different parts of the worldisa . [Ans: b]
(a) Philanthropist (b) Cosmopolitan (¢) Tourist (d) Urbanite

Chose the correct form of verb: (16-17)

16. Ireally enjoy (speak) English. [Ans: c]
(a) to speak (b) speak (c) speaking (d) spoke

17. In those days there (be) no steamships. [Ans: d]
(a) is (b) are (c) was (d) were

18.  Which of the following word singular form? [Ans: d]
(a) Formula (b) Agenda (c) Oases (d) Radius

Choose the correct meaning of the phrases: (19-20)
19. Cock pit [Ans: d]
(a) Bottom of an aircraft (b) Front of an aircraft (c) Safety doors of an aircraft.

(d) An enclosed area of an aircraft, where the pilot sits and steers the plane.

20. Blue blood- [Ans: b]
(a) Wrong blood (b) Aristocracy (c) Enmity (d) Blue colored blood

21. Find out the antonym of the word ‘Abstract’. [Ans: b]
(a) Initial (b) Concrete (c) Summery ! (d) Tangible

22. Find out the synonym of the word ‘Jovial’. [Ans: a,c]
(a) Jolly (b) Jealous (c) Gay (d) Happy

23. Find out the correct spelling. ' [Ans: a]
(a) exaggerate (b) exaggerate (c) exeggrate (d) exaggerrate

24. Change the sentence as directed, ‘I always remember him’. (Make it Negative) [Ans: d]
(a) I will not always remember him (b) I shall not always remember him
(c) I do not forget him (d) I never forget him

25. Translate into English. (5fe5 & qaew 2=e? [Ans: a]
(a) Is David an Englishman? (b) Is David an English?
(c) Is David an English citizen? (d) Is David a English?




